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A1

1. Define each type of reaction. Write the general equation (using A, B, C, or D as needed with a —).

Name Date Period

Types of Reactions WS 1

a) Synthesis/Combination -

General Equation: i

b) Decomposition -

General Equation: —
c) Single Replacement -
General Equation: o

d) Combustion -

General Equation: —

e) Double Replacement -

General Equation: —

2. Choose the correct symbol for the type of reaction. Place that answer in the blank at the end of
each equation and then balance each equation correctly.

S = synthesis SR = single replacement
D = decomposition DR = double replacement
C = combustion

a) Fe + Clhh—> FeCls

b) CHs + 0> CO; + H20

c) Fo+ KCl - KF + Cl,

d___ HgO- Hg + 0.

e) Li2S + BaCl; » LiCl + BaS

fy ___ Na(s) + ___ HO() 2> ___ NaOH(aq) + H2(g)

g _COo(@+ __02(9 2 ___CO:z(9)



hy ___ FeS(s)+ ___ HCl(aq) > ___ FeCla(aq) + ___ H:S(g)

i) __ NaNOs(s) > ___ NaNO2(s) + ____02(g) .
) ___CHi@ + _02(g > __CO2(9) + _H:0(g) -
kf ___ Fe(s)+ ___ CuNOs(ag) @ ___ Cu(s) + ___Fe(NOs)2(aq) ____
) ___Ki(aq) + __Cl(g) > __KCl(aq) + _l2(aq) —
my___ Al(s) + ___ S(s) > ___ AlkSs(s) -
n) __ KCIOs(s) > ___ KCI(s) + ____02(9) -
0) __ _CHio(g) + __02(9) > __COx(9) + __HO

p) When camping, most food is cooked on butane stoves. What type of reaction is taking place when
butane (CsH10) burns to produce a flame?

q) Hydrogen peroxide (H20>) is kept in a dark brown bottle because light causes it to spontaneously break
down into water and oxygen gas. What type of reaction is this?

r) When you leave your little red wagon outside, the iron combines with oxygen in the atmosphere to
produce rust (Fe203). What type of reaction is this?



Name: Per: Date:

Types of Reactions WS 2

Balance the reactions 1 to 6 and indicate which type of chemical reaction (synthesis, decomposition, single-
replacement, double-replacement or combustion) is being represented:

1. __ NaBr+___ Ca(OH);=> __ CaBr+___ NaOH  Reaction Type :
2. NHa+ __ H:SOs> __ (NH4)2S04 Reaction Type :
3. _ CsHO+__ 0> __ CO+___ HO Reaction Type :
4. Pb+ HiPO4 = H, + Pb3(POs)2 Reaction Type :
5 __ LisN+__ NHNOz=>__ LINOs+__ (NHs)N Reaction Type :
6. __ HBr+__ AIlOH); > __ HO+___ AlBrs Reaction Type :

Indicate which type of chemical reaction (synthesis, decomposition, single-replacement, double-replacement or

combustion) is being represented in 7 to 20.

7. NasPOs + 3 KOH - 3 NaOH + K3POs
8. MgClz + Li2CO3 - MgCOs + 2 LiCl

9. CeH12+9 02> 6 CO2+6 H0

10.Pb + FeSO4 > PbSOa4 + Fe
11.CaCO3 > Ca0 + CO2

12.P4+ 3 02> 2 P203

13.2 RbNO3 + BeF2 - Be(NOz3)2 + 2 RbF
14.2 AgNO3 + Cu - Cu(NOa)2 + 2 Ag
15.C3HsO +4 02 > 3 CO2 + 3 H20

16.2 CsHs + Fe = Fe(CsHs)2

17.SeClg + O2 > Se02 + 3Cl2

18.2 Mgl2 + Mn(S0O3)2 - 2 MgS0s + Mnls
19.03 > 0 + 02

20.2N022> 202+ N2
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Reaction Type
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